EXHIBIT A

1	ABRAHAM, FRUCHTER				
2	& TWERSKY, LLP Patrice L. Bishop (SBN 182256)				
3	9440 Santa Monica Blvd., Suite 301 Beverly Hills, CA 90210				
4	Telephone: (310) 279-5125 Email: pbishop@aftlaw.com				
5	Class Counsel				
6					
7					
8	UNITED STATES DISTRICT COURT				
9	NORTHERN DISTRICT OF CALIFORNIA				
10	SAN FRANCISCO DIVISION				
11					
12	CHRISTOPHER L. SAYCE, Individually	CASE NO.: 20-CV-00076-SI			
13	and on Behalf of All Others Similarly Situated,	CLASS ACTION			
14	Plaintiff,		TION OF JEFFREY S. ON BEHALF OF ABRAHAM		
15	V.	FRUCHTER	R & TWERSKY, LLP IN DF CO-LEAD COUNSEL'S		
16	FORESCOUT TECHNOLOGIES, INC., et. al.	MOTION F	OR ATTORNEYS' FEES AND ON EXPENSES		
17	Defendants.	Judge:	Hon. Susan Illston		
18		Courtroom: Date:	1 – 17 th Floor December 5, 2025		
19		Time: Trial Date:	10:00 am None set		
20					
21					
22					
23					
24					
25					
26 27					
28					

ABRAHAM DECL. ISO MOTION FOR ATTORNEYS' FEES AND LITIGATION EXPENSES CASE No.: 20-CV-00076-SI

I, Jeffrey S. Abraham, declare and say that:

- 1. I am a partner in the law firm Abraham, Fruchter & Twersky, LLP ("AF&T"), which was appointed Co-Lead Counsel in this Action. I have been personally involved in the prosecution of this Action, and have personal knowledge of the facts set forth herein. I would testify to those facts if called to do so.
- 2. I and other attorneys (as well as non-attorney timekeepers like paralegals) contemporaneously record time and expenses in AF&T's books and records. Such time and expenses are allocated in AF&T's accounting system on a case-specific basis, and I believe accurately reflect the amount of time spent and litigation expenses incurred by AF&T to date.
- 3. AF&T's accounting records confirm that AF&T has expended the following hours and lodestar prosecuting this Action through October 2025:

Timekeeper	Hours For Period	Rate	Lodestar for Period
Jeffrey S. Abraham (P)	1,604.75	\$ 1,250.00	\$ 2,005,937.50
Michael Klein (OC)	2,450.60	\$ 950.00	\$ 2,328,070.00
Patrice Bishop (OC)	1,025.60	\$ 950.00	\$ 974,320.00
Ian Berg (OC)	37.00	\$ 800.00	\$ 29,600.00
Takeo Kellar (OC)	104.00	\$ 775.00	\$ 80,600.00
Wei Chen (OC)	88.21	\$ 450.00	\$ 39,694.50
Dylan Berger (A)	125.00	\$ 450.00	\$ 56,250.00
Caroline Camhy (SA)	1,712.00	\$ 450.00	\$ 770,400.00
Ryan Bloomquist (SA)	890.50	\$ 450.00	\$ 400,725.00
Reena Garg (SA)	829.50	\$ 450.00	\$ 373,275.00
Judith Norman (SA)	1,096.70	\$ 450.00	\$ 493,515.00
Joshua Schechter (SA)	2,308.67	\$ 450.00	\$ 1,038,901.50
Brooke Munson (SA)	50.00	\$ 450.00	\$ 22,500.00
Ryan Levy (PL)	33.50	\$ 365.00	\$ 12,227.50
Moshe Fridman (PL)	36.50	\$ 365.00	\$ 13,322.50
Grace Palmer (PL)	69.75	\$ 325.00	\$ 22,668.75
Total	12,462.28		\$ 8,662,007.25

Legend: P = Partner; OC = Of Counsel; A = Associate; SA = Staff Attorney; PL = Paralegal

4. The above tabulation excludes certain timekeepers and hours at AF&T's discretion and does not include time related to the preparation of a fee request. The above time expenditures relate to time spent on activities reasonably necessary to prosecute this Action. The above hourly rates are the standard rates currently charged by AF&T for each timekeeper (or if the timekeeper has left AF&T, the rate at the time of his or her departure) and reflect the amounts that I believe the designated timekeeper could secure if paid on an hourly basis, after ABRAHAM DECL. ISO MOTION FOR ATTORNEYS' FEES AND LITIGATION EXPENSES

considering: (a) hourly rates approved by courts in other securities cases; (b) public reports of hourly rates charged by defense firms that participate in securities litigation; and (c) the experience and pedigree of each timekeeper.

5. AF&T's books and records confirm that it incurred the following litigation expenses, none of which has been reimbursed to date:

Expense Category	Amount
Expert/Consulting Fees/Foreign Legal Counsel Fees	\$203,905.50
Online Legal Research Fees (Westlaw, Bloomberg, Pacer)	\$12,105.29
Mediator Fees	\$13,852.00
Legal Fees/Court/Clerk/Filing/Court/Legal fees/Process Server, Service	\$22,017.10
Fees/Subpoena Witness Fees/ Transcripts/Court Reporting Service	
Fees/Counsel Press Prep	
Printer/Copier Expenses	\$1,515.92
Shipping/Courier Expenses	\$745.62
Travel and Meal Expenses	\$38,557.46
Total	\$292,698.89

6. Included above are expenses that may be incurred if the Settlement Hearing is held in person and that will only be received by AF&T if its attorneys travel to and attend the Settlement Hearing in person. The above expenses were all reasonably necessary for the prosecution of this action, and are of the types typically charged to clients in an hourly fee arrangement. Also excluded above are joint expenses shared with co-counsel, including expert fees, private investigator fees, database charges for e-discovery, and other charges that were shared with co-counsel but are not split between my declaration and the contemporaneous declaration of Omar Jafri on behalf of Pomerantz LLP, and for which AF&T shared an obligation to pay.

I declare, under penalty of perjury, under the laws of the State of New York and the United States of America that the foregoing is true and correct.

Executed this 31st day of October 2025, at New York, New York.

leffrey S. Abraham